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QUESTION 1

Which query will find rows in a table that have no counterpart in another table?

A. SELECT *FROM tablel INNER JOIN table2 ON tablel.id=table2.id WHERE tablel.id=! table2.id;

B. SELECT left_tbl.*FROM left_tbl LEFT JOIN right_tbl ON left_tbl.id=right_tbl.idWHERE right_tbl.id IS NULL;
C. SELECT tl.name, t2.name2FROM employee AS t1 INNER JOIN info AS t2 ON tl.name= t2.name2;

D. SELECT tl.name, t2.name2FROM employee t1 INNER JOIN info t2 WHERE t1l.name=t2.name;

Correct Answer: B

QUESTION 2

The replication for a Master and Slave MySQL Servers is up and running. The disk space for Master Server is
continuously growing. The binlog size keeps growing. Which two methods can fix the issue?

A. On the Master server, disable binlog by removing the --log-bin option.

B. Set the expire_logs_days system variable to expire binary log files automatically after a given number of days.
C. To safely purge binary log files, perform these steps:

1.

On each slave server, use show slave status to check which log file it is reading.

2.

Obtain a listing of the binary log files on the master server with show binary logs.

3.

Determine the earliest log file among all the slaves. This is the target file. If all the slaves are up- to-date, this is the last
log file on the list.

4,

Make a backup of all the log files you are about to delete. (This step is optional, but always
advisable.)

5.

Purge all log files up to but not including the target file by using the purge binary logs statement
D. Execute the purge binary logs statement without argument.

E. Delete all binlog files manually on the file system to release storage spaces.

Correct Answer: BC
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QUESTION 3
Which two statements are true about MySQL Enterprise Authentication?

A. MySQL Enterprise Authentication makes it more difficult to set up security because you have different sets of security
policies.

B. MySQL Enterprise Authentication determines what operation the user can perform.

C. MySQL Enterprise Authentication supports Linux Pluggable Authentication Modules (PAM).

D. MySQL Enterprise Authentication supports Windows Active Directory.

E. MySQL Enterprise Edition automatically connects to Oracle Password Vault to verify user passwords..

Correct Answer: CD

QUESTION 4

Which is a correct example of creating an Enterprise Encryption function?

A. SET @function = CREATE_ASYMMETRIC_PRIV_KEY(@algo, @key_len);

B. CREATE FUNCTION asymmetric_decrypt RETURNS STRING SONAME \\'openss1_udf.so\\;
C. INSERT INTO t1 (key_col) FUNCTION(CREATE_ASYMMETRIC_PRIV_KEY(\W'RSA\', 1024));
D. VALIDATE FUNCTION create_asymmetric_priv_key WITH \Wopenss|_udf.so\\';

Correct Answer: B

QUESTION 5

You are using the innoDB engine and the innodb_f ile_per_table option is set. You delete a significant number of rows
of a large table named inventory and issue the command optimize table inventory. What will happen to the inventory
table?

A. The table will be optimized and replicated.

B. The table will be checked for errors and repaired.

C. The table storage space will be reduced.

D. The table statistics will be stored.

Correct Answer: A
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